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ENGLISH VERSION
Replace the question mark in the Problem Fig. with an alternative out of Answer F g

Tkd
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AYA By B < mD

The foliowing problem coniains four un-numbered Figs forming the Problem Set and
5 other Figs numbered 1.2,3,4,5 forming the Answer Set The 4 problem figures have
certain common features. Sziect a Fig. from Answer Figs. which posses the same
features as the Figs m Problem Figs.
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Q. Nos. 3 to 6, refer to the following Venn diagram:
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3. The number of students who took any three of above subjects
A)62 B) 63 Cy o4 Dj 06
4. The number of students in total who took History or Mathematics or Science was
A) 183 B) 190 ) 202 D) 63
5. The number of students who ook both History and Geograpny among otner subjects
AV 62 B) 65 Y63 m 66
6. Which subject was taken by the largest number of students?
A) Mathematics B) Science () Geography D) History

Read the foliowing information and answer Q.Nes. 7-8

iy 1% studenis A, B, C,D.E, B, G, H. L. J and K are sitting in a row facing the teacher.
i) D, who is to the immediate left of F. is second to right of C

i) A. who is 2" to the right of E. is ai one of the ends

iv) 1 is the immediate neighber of A and B and 3" 1o the left of G

v) H is to the immediate ieft of D and 3" o the right of I
Which of the following groups of friends is sitting right of G?

A)IBJA B) ICHDF C) CHDF D)y CHDE

In the above sitting arrangement which one among following statements i
superfluous

Ay only (1) B) only (ii) C) only {11} D) none is superfluous
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9. The positions of 1™ and g™ fetters in the word WORKINGS are mterchanged.
Similarly the positions of 29 and 7" letters are interchanged and positions of 3 and
6" are interchanged and positions of remaining two letters are also interchanged with
each other. Which of the following will be the 3% Jetier to the left of R after
rearrangements?
Ay G Ryl CTIN Dy
10.  In the foliowing aiphabets, which letier s 87 to the nght of the 14" letter from the
right end?
ZABCDEFGHIJKLMNGOPQRSTUVWXY
AYH B)R CyS DY T
11.  Letters of the word have been jumbled up. Construct the word
‘R'M A T AIUE
1 2 1304 5167
A)234,1.5.6.7 BY3.1,254.7.6 ) 3,2.54.7.6.1 Dy4,1.3265.7
12. If each of the vowels in the word BREAK is kept unchanged and euch of the
consonants is replaced by the next letter in the English alphabet, how many
meaningful words of four letters can be formed with the new letters using each letter

only once in each word?
A0 Bl Cyz2 )3

If it 15 possibie to make a number which is perfect square of a two digit odd number
using the 2™, 4% and 7" digit of the number 73 9 1426 5 8 using each only once.
Which of the following is the 2 digit of that two digit odd number?

A)3 By 3 C)7 D)9
Directions for Q. Nos. 14 & 15

Consider a group comprising of 4 students- Reena, Beena, Meena and Neena, who stand
in a row. Reena and Beena stand in 6" and 7" positions respectively from the left.
Meena and Neena stand in the 4" and 5" positions respectively frem the right. When
Beena and Meena exchange their positions, then Beena will be 15" from the left.

._.,.
2

14. Originally, Neena’s position from the left 1s

A)S B) 15 Cy14 D116
15. If Neena and Reena also exchange their positions between themselves then after the

exchange, Neena’s position from the left 1s

A6 By 10 Cy 11 D13
16. The priest told the devotees, “temple bell 1s rung at regular intervals of 45 minuics.

The last beli was rung tive minutes ago. The next bell 1s due to be rung at 7.45 am.”
At what time did the priest give this information to the devotees?

A)7.40 am. B) 7.05 am. ) 7.00 am D) 6.55 am.
17, Which one among the foliowing is mirror image of
‘MALAYALAM
(A) MALAYALAM B, WYrvrvin
(Cy MAJAYAIAM (D MATAYAIM

Study the following arrangement of symbols, ietters and numbers to answer

(Q.Nos. 18 t0 20
6=§F2*KS?S#SPLVS@MUE&TQG+93+TY—

18. How many such letters are there in the arrangement each of which is either
immediately preceded by a symbol or immediately followed by a number. but not

both?

INE B) 6 07 D) §

C-Paze dof 30

¢



19

IJ
Ll

i~J
LN

How many such consonants are there in the above arrangement each of which 1s
immediately followed by a consonani but not immediately preceded by a symbol?
Ainil Byi Oy Dy 3

Which of the following 15 exactly m the middie of the 9 from left end and the 15"
from the right end in the above arrangement?

A)P By U C)E D)L

Replace the question mark (?) with ene of following alternatives:

3 s 10 2 7

6 56 %0 | 2 20 0
A9 B3 oM m7
Replace the question () mark with one of the given alternaives

i A+ M | B 0N

= S

R C s D

_E | U F 7
AYG R)R T DYV

Answer Q. Nos. 23 to 25 on the basis of following informations

All the roads of a city are either perpendicular or parallel to each other. All roads are
straight. Roads A, B, C, D and E are parallel t0 one another. Roads G, H, 1, ., K. L
and M are parallel to one another

i) Road A is | KM east of road B 11} Road B 1s 2 KM west of road C
iii) Road G is 2 KM south of road H iv) Road D is i KM west of Road E
v} Road I'is 1 KM north of road I vi) Road K 1s %2 KM north of road L

viii) Road K 1s 1 KM south of road M

Which of the following is necessarily true

A} E and B intersect 3111152 KM westof B

{3y D is atieast 2 KM wesi of & Dy Mas 1.5 KM north of L

ifK is parallel to I and K 15 4 KM south of J and 1 KM north of G, which two roads
would be %2 KM apart”

AvK and J Biland K CyJand G MJand H

[ road F is between B and C, then distance between Aand D 1s

A 1o LOKM B) 1 KM Cy1.5102 KM Dy2.0te 2.5 KM

The value of ¢ for which the points (¢ + 5, a = 3), {a—5.a~+3),(a,a)arc collinear 18
(Ay a>0 (Bya<0 (C)no such a exists (D) any value ofa

The day of the week on 26 June, 1§16 was
{A) Sunday (B) Wednesday (C) Friday (D) Monday

Ten persons were arranged m a circle. The probability of two particular persons
standing adjacent to each other is

1 1

(A) 5 (B) (C)
Three cards are drawn at random from an ordmary pack of cards. Find the probability
that thev consist of a king, a queern and an ace.

2
(DY g

(S NN ]

12

64 . . . e -
‘Bi— — Gy —— {DNone of these
(A) (‘B)sz % 51x 50 C 52+ 51+ 50 "

The equation (a*~+ ) x*=2(ac+bdx~ ¢ + d* = 0 nas equal roots then
(A) ab=cd ‘B) ad =vbc {Cyad = be Dyab=~ed
A reduction of 25% in the price of sugar enables the person 10 get 10 Kg more on &

purchase of Rs. 600. What is the reduced rate of sugar?
(A} Rs. 25/Kg (B) Rs. 45/Kg (C)Rs. 35/Kg (D) Rs. 15/Kg
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Which of the following rationai numbers has a terminating decimal expansion?

L., 129 iy 1475 L T9 . B
(A) S777% By =7 €l Dy
The linesx + 2y —4 =0 and 2x + 4y - 12 = G are

{A) Coinciding (B) Intersecting (C) Paralle! (D) perpendicular

The ratio of incomes of two persons is 9 ¢ 7 and the ratio of their expenditures 154 : 3.
If each of them manages to save Re 20 per month, then their monthly INCOMES are.

(A) 180, 140 (B) 18, i4 1C) 36, 2% (D) 1800, 1400
Which term of the Arithmetic Progression{AP): 21, 18.15,.. .15 — 817
(A) 36 {B)4s ()40 (DY 35

Pipe A can fill a tank in 20 minutes and Pipe B in 30 mns and Pipe C can empty the
same in 40 mins. If all of tham work together, find the time taken to fill the tank.

(A)Y 17 71 mins (B) 20 mins (C) 8 mins (D) none of these
Thirty men take 20 days 1o complete a job working 9 hours a day, How many hour a
day should 40 men work to complete the job?

(A) 8 hrs (B) 7+ hrs () 7 hrs (D)9 hrs

Find the smallest number in a Geometric Progression(GPj whose sum is 38
and product 15 1728.
(A) 12 (By20 iC) 8 (D) none of these

A boat travels 20 kms upstrearm in 4 hrs and 18 kms downstream 1n 4 hrs.
Find the speed of the boat in still water and the speed of the water current?

(A) ¥4 km/h (B) - km/h (C) 5 km/h (D) none of these

A car takes 3 hours to cover a distance of 180 kms. If the distance is to be covered in
5/2 hours, what should be the speed of the car ?

(A) 72 kms/hr {B) 90 kms/hr (C) 36 kms/hr (D) 60 kms/hr

Lee is 6 vears elder than her sister Sue and John is 5 years elder than Lee. [f total of
their ages is 41 then Sue’s age is”

(A) 19 vears (B) 10 years {C) 14 vears (D) 8 years

ABCE is an isosceles trapezium and ACDE 1s a rectangle such that AB = i0 and

EC = 20. What is the length of AEY

(A) 15 (B)20 (CYU {D) none of these

Mr. Shah decided 1o walk dewn the escalator. He found that if he walks down 26
steps, he requires 30 seconds to reach the bottom. However, if he steps down 34 stairs
he would only require 18 seconds to get 10 the pottom. If the time 1s measured from
the moment the top step begins to descend to the time he steps ofl the last step at the
bottom, find out the height of the stair way m steps?

(A) 30 steps (B) 46 steps {C) 20 steps (D) none of these
Length of a tangent from a point P at a distance of 5 ¢cm from the center of a

circle is 4 em. What will be the radius of the circ’e?

(A)Scm (B)7 cm () em (D13 cm

£ 12 men can do a piece of work 1n 80 days. in hew many days will 16 men do 1t”

(A} 60 (B) 50 (C) 55 (D) 45

The angle between the hour hand and the minute hand of a clock at time 5:35 1s.

(A) 60° (B) 40° (C) 42 5 (D) none of these

A man wants to cover a distance of 50 kms by bicycle. He goes at the speed of 12.2
km/h and takes rest for 20 minutes after covering each 12.5 km. How much time will

he take to cover the whole distance?
(A) 4 hrs (B) 5 hrs (C) 6 hrs (D) none of these
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48.

49.

A wire in the form of a circle of diameter 21ems is cut and bent to form a square. The

side of the square is (assuming T = 22/7)

(A} 332 B) 33 (C)34 {D} 35

A drinking glass, of height 14 em, 15 10 the shape ef a trustum of acone. The

diameters of i1s two circular ends are 4 cm and 2 cm. Find the capacity of the glass.
. k3 - . s

(A) 103 em’ (B) 102 em® (C)102. 67 cm® (D) 10iem’

A toy train crosses 210 and 122 meter long tunnels 1n 25 and 17 seconds respectively.
The length of the train is

(AYo0m {iBY73m (Ci40m (I 65m

Which data input method does mainly banks use for processing bank cheques 7

(A) OMR (B) Bar Code Reader {Cy MICR {D) Light Pen
iefi or Right indentation in paragraph setting of MS-Word determines distance from
A) Left or Right Margin B Left or Right Page Boundary

) Gutter Position D) None of the Above

Directions: Assume this data to answer questions from 33 to 55
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+

h
i

56.

A
—1

A company has many sales persons selling different type of goods in various
states. 1t has recorded the following data for one month by various sales persons

{name column).

S AL B Co D
1 [State |Name[Type Sale

2 iPE Ravi |Pen 3571

3 |HR Ram. |Dairy 3338

4 {HP  |[Sham [Pen 5122

5 |cHD (Raju_|Dairy 6239

6 |DEL [Vasu Produce (8677

7 |RAJ |Bedi [Copy 450 |
8 K |simi [Copy  |7673 |
g lup [Goel |Produce 664

10 [UK iGarg |Produce |1500
11iMP  [Sita  |Meat 6356

The formula =COUNTIF(C2:C11," *uce'") in cell D12 will result in

Ay 1 B3 i o

The formula =SUMIF(C2:C11,"'=Pen",D2:D1 1) cell C12 will result 1n

A) 8693 B)2 )y 3571 D) 5122

The formula ~CONCATENATE(REPT(0.3),RIGHT(ID7,3)) in cell E& will result in
Ay 450000 B) 0.450 Cy 000450 D) 450.000
Format Painter in MS-Office is used to

A) Paint the figures B} Copy format from one place to another

D) To insert figures using Paint Brush

ows etc. concurrently on

C) To paint various tables
You want to use multiple operating system like Iinux, wind

single machine. The best way to achieve this is:

A) Make machine multiple bootable like using GRUB

B) Use virtualization software like YMWare

C) It is not possible

D) None of these
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58.

60.

64.

69.

70.

In the context of MS-EXCEL spreadshee: software, the process of identifying
specific rows and columns so that certain columns and rows are always visibic on

the screen is called

A) Freezing B) Locking C)Selecting D) Fixing

Today's desktop computers have typically "X’ amount of main memeory. "Y  speed of
processor and ‘Z° amount of hard-disk memory. Approximately X, Y. Z can be

respectively.
A) 4GB, 3kHZ, 1000GB By 4MB. 3MHz, 1000MB
C) 4GB, 3GHz, 1000KB D1 4GB, 3.3 GHz, 10600GB

Which of the following is not a hard-ware:

A) Hard-disk B) RAM C) Processor D MS-Otfice
From what location are the ist computer instructions available on hoot up of
Windows OS7

A)ROM BIOS B) CPU ) boot.ant D) CONFIG.SYS
You just installed a new IDE hard drive, but vour system BIOS will not recognize the

new drive, what should you cheek first.
A) drivers that need to be loaded B) jumpers on the hard dnve

C) cable sequence D) hard drive manufacturer web site information
Which of the following operating system you most likely will use on vour laptop:

A) MS-Oftice B) Internet Explorer

() Windows 7.0 D) Mozilla FireFox

Which type of printer works by using a charged drum to deposit particles of ink on
the paper?

A) Thermal printer. B) Inkjet printer.

() Laser printer. D) Dot-matrix printer.

Mail merge is a feature likely 10 be found in which of the following software
packages?

A) Emat! program B) Desktop publishing program

C) Spreadsheet. D) Word processor

Which of the following may connect different international offices of a business?
AYLAN By WAN Cy PAN D) CAN

(Gaining un-authorized access 10 a COmpPULEr System would fall under which category
of computer crime?

A) Data thett. B) Theft of services.

() Destruction of data and software. D) Hacking.

What is a motion path in MS-PowerPoint”

A) A type of animation entrance etfect B) A method of advancing slides
C) A method of moving items on a slide D) All of the above

In the context of animations in MS-PowerPoint, what 1s a trigger?

A) An action button that advances 10 the next slide

B) An item on the slide tha: performs an action when clicked

C) The name of a motion path

D) All of above

Which of the following key wiil not advance the shdes in a slide show in case of MS-
PowerPoint?

A) The esc key B) The space bar

C) The enter key D) The mouse button
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84.

A creaies copies during replication that are functionally

equivalent but have distinctly different bit patterns.
A) Boot Sector Virus B) Poiymorphic Virus
C) Parasitic Virus D) Macro Virus

You perform banking operations oniine, Which of the following are applicanon-ievel

encryption protocols that you wouid most likely use to securely bank online?
A) SSL and SET B) Verisign and SHAT1
C)READY, SET, and GO D) PGP, PEM, and SSL

in the context of MS-EXCEL spreadsheet software, what happens when dollar

signs ($) are entered in a cell address? (ex. $B$2:3BS100}
A)An absolute ceil address is created.

B} The cell address will change when it is copied to another cell.
C) The sheet tab is changed.

D) The status bar does not display the cell address.

In order 1o enhance performance of the computer, Disk defragmenter

A) consolidates parts of files Iving at different locations on computer’s hard disk.

B) deletes temporary files related to Internet.

C) deletes temporary files relaied to backup.

D) All of the above.

The Recycle Bin is an area in Windows Operating System that contains only:
A)Fiies deleted from the had drive.

B)Files deleted from CD-ROM

C)Files deleted from a 3.5-inch floppy drive.

D)0nly B) and C)
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(A) fHEEg (B)Hga= () ferfim (D) FrOTas
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(A)FHT (B) Qu-3w iC) foqags (D) faft
frm uFg 'S Sua MU B9 w5, & faar Aer @

(A) ZTEE (B) Ate=? (C) AeHT=ERY (D) HarEt3

Directions (Q.89 to 91):-  Choose the correct preposition to be filled in the gaps in the

following sentences out of the four given options:-

89.

90.

91,

Seeta finally managed 1o break free ... ner attacker.

{A) from (B) with: (C) by (DY through
I wish she knew what she was driving ...

(A) by (B)ar {Chon (D) oft
Venkat was fucky to get ..... with a small fine.

(A)on (B) through {C) off (D) by

Directions (Q.92 to 93):- Choose the correct synonym of the following out of the four

given options:-

92

Adduce

(A) Cite (B) Reduce (C) Subtract (D) Addict
Debauched

(A) Cruel (B) Depraved (C) Dangerous (D) Bleached
Exasperate

(A) Entertain (B} Lxhaust {CY infuriate (D) Attract
Impolitic

(A) Apolitical {B) Impolite {C) Political (D) Unwise

Directions (Q. 96 to 98):- Choose the correct meaning of the following idioms out of the

four given choices :-

96.

98.

To nail one’s colours to the mast

(A) to be a good sailor (B} to be accessible to all
(C) 16 be pessimistic (D) o refuse to surrender
To come 10 a head

(A) 10 reach a crisis iB) 1o artain perfection
(C) to master something (D) 1o ciimb a mountain

To leave someone in the hurch
A)to aspire for his/her friend’s posiuon B)jto desert someone 1n a helpless condition
C) to plot & conspiracy D) to rob somebody 1n a journey.

Directions (.99 to_100):- Choose and mark the correct sentence out of the four given

options;-

99.

100.

(A} The population of London is greaer tl en Jaipur.

(B) The population of London is greater than Jaipur.

(C) The population of London 1s greater than that of Jaipur.
(D) The population of London is greater than the city of Jaipur.

(A) Sachin is the greatest of all other batsir en.
(B) Sachin is greater than all the batsmen.
(C) Sachin is greatest of all other batsmen.

(D) Sachin is the greatest of all batsmen.
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101, Who said “We are not Sikhs or Punjabis our religion was patriotism’”

A) Sohan Singh Bhakna B) Lala Hardyal
() Kartar Singh Sarabha D) Bhagat Singh
102, Who signed the Treaty of Amritsar {180%) on behalf of British Government
A) William Bentick B) Lord Auckland
C) Charles Theophilus Metcalte D) Sir George Barlow

105, Tn which Cricket Test Match did the wicket keepers of both the teams bowl”
A) South Africa Vs India 1% Test 2013
B) England Vs Ausiralia 2™ Test 2013
C) West Indies Vs New Zealand 2" Test 2013
D) Pakistan Vs Sri Lanka 1™ Test 2012

104.  Which of the following sets of princely states are termed as Phulkian States”

A) Patiala, Malerkotla. Nabha B) Patiala, Jind. Malerkotia
) Patiala, Nabha. Jind, Kapurthala D) Patiala, Jind. Nabha
105.  March the following:
River : _ Ancient name of river
1 Beas A Vipasha
2. ] Ravi b Parushani :
3. Chenab . | Asikini |
4. | Jhelum d Vitasta |

A) la, 2¢, 3d, 4b B) la, 2b, 3c. 4d C) 1b, 2d, 3¢, 4a D) 1d, 2¢, 3b. 4a

106, The subtitle of 12" Five Year Plan is
A) Growth with Justice
B) Growth with Social Justice
() Faster, Sustainable and More Inctusive Growth
D) Accelerated Growth and Inclusive Growth

107.  World War 1i is often considered to be a turning point in history because
A) the League of nations demonstrated that an international organization could
maintain world peace
B) the war brought an end to dictatorships as a form of government
C) Furopean domination of the world began to weaken as nationalism m colonies

mnereased

D) religious and ethnic differences were no Jonger a source of conilict between
nations
108.  Theory of Economic Drain of India during British Imperialism was propounded by
A) Jawahar Lal Nehru B) Dada Bhai Naoroji
C)R.C. Dutt ) M K. Gandhi
109. National Statistical Day is celebrated in India in the honour of
A) Amartya Sen B) Radha Laha
C) C.R. Rao D) P.C. Mahalanobis
110.  Which one of the following oil fields of India is the oldest oil producing field?
A) Bombay High B) Digbot C) Ankieshwar D) Naharkatiya
111.  Yellow Book 1s
A) official publication of ltaly and Iran B) official publication of Netherlands
() official book of French D) official report of the Japanese Govi.
112. In Indian Polity which is supreme
A) The Supreme Court B) The Constitution
C) The Parliament D) Religion
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The first hour of every sitling of the Lok Sabbu is called
A Questicn hour i3) Public hour 'y Zero hour D) Privilege hour

During which of following decades did population record a negative growth rate
A)1921-31 B) 1911-21 CY1941-51 D) 1931-4}

Ladli Laxmi Yojna has been launched for supporting giris of all religions and castes
upto therr marriage by

A) UP Government B} MP Governmen

C) Haryana Government D) None of the above

[f the Cash Reserve Ratio is lowered by RBI, its impact on credit creation will be

A) favourable B} adverse C) both favourable and adverse D) no impact

Which of the foliowing disease is caused by virus

A) small pox B) tuberculosis ) malaria D) tvphoid
Fish respire through the

A) nose B) lungs ) anlls D) fins
One should not sleep in a ciosed rcom where a charcoal fire is burning because
A) Charcoal produces carben monoxide which decrease oxygen content in air
B) Charcoal produces carbon dioxide w.ich is injurious to health

C) Charcoal increases lemperature in 17 : room

D) none of these

Tn an earthen pot cooling of water depends upon

A} outside temperature B) atmospheric humidity

) wind D} ail of these

The scientist who first discovered that the earth revoives round the sun was
A)Newton  B) Daiton ) Copernicus D) Einstein

Which country awards the Nobel Prize

AYUSA B) Sweden Oy UK D) Ireland

Which Cricketer has been appointed brand ambassador of Border Security Force”
A) Sachin Tendulkar B) Virat Kehls ) M.S. Dhon D) Rohit Sharma
Miss Universe 2013 Gabriela Isler is from

A} Venezuela B) Finland C) Greece ) Australia

Rating Agency ICRA slashed india’s GDF growth estimate 10 ___inFinancial
Year 2014

A} 4.9 percent B} 3.9 percent ) 4.1 percent D) 4.3 percent

In a certain code. "REFRIGERATOR' is coded as ‘ROTAREGIRFER’. How would
the word ‘NOITINUMMA” be coded”

A) ANMOMIUTMI B) AMNTOMUIIN

)y AMMUNITION DY NMMUNITIOA

According 10 certain code

i) *min fin bin gin’, means "trams are always late’

i) ‘gin din cin hin’, means * drivers were a:ways punished’

iil) bin cin vin rin’, means ‘drivers stoppet all trains’

iv) ‘din kin fin vin’, means “all passengers werce late’

then ‘hin min kin®” would mean

A) always late trains B) passengers are punished

C) all passergers late 7)) passengers are late

If the animals which can walk are called -swimmers', animals who crawl are called
flving’, those living 1n waler are called ~snakes’ and those which fly in the sky are
called *hunters’, then what will a lizard be calied?

A) SWImmers B) srakes C) hunters D) flying
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138.

140,

Which one set among the following is similar to given set

Given set : (8, 3, 2)

Alternatives:

A) (10,6, 5} B) (63, 8, 3} C)(95.24, 5) Dy (168, 15. 4}
Find the pair among the alternauve having the same relationship as the first pair has
Aryabhatta : Mathematician :: Varahamihira:

A Physician B) Astronomer () Scientist D) Architect
Find the one that does not belong to the group 2. 3.9, 27, 112, 565. 3396

AY 565 B)9 Cyliz2 Dy 27
Complete the series C, Z, F, X, [, V,L, T,0, 7.2,

AYO.P BYP, C)R,R D)S.R

The given series of letters have a definite patiern. Some terms are missing in the
series. One among the grven alternatives has the same order
Given series: abca  bcaab  ca _bbe a

Alternatives:

Ajccaa B) bbaa >} abac D) abba

Find the wrongly matched pair

i} Lion — roar i1) Snake — hiss i1i) Bees - hum iv) Frog — bleat
v) Dog — bark

A) (D) B) (11} C) (ii1) D) (iv)

Out of 4 groups below, 3 are alike in a certain way, one is different, Choose the
different one

})jkNors i)hIMnpgq iiyeDGhk! ivipqTUxy
A) (1) B) (i1) C) (i) D) (iv)

Find the next term 8, 28, 116, 584, 7

Ay 1752 B) 3504 Cy 3508 D) 3502

Pointing to a lady n a photograph. a lady tells Pramod, I am the only daughter of
this lady and her son is your maternal uncle”. How is the lady related to Pramod’s
father?

A) sister-in-law B) wife C) sister D) mother

If ‘P $ Q means ‘P is father of Q°, ‘P # Q" means "P 1s mother of Q°, *P * Q" means
*P is sister of Q°, then how is D related to N in N#ASB*D 7

A)nephew  B) grandson ) granddaughter D) granddaughter or grandson

B is the husband of P. Q is the only grandson of k=, who 1s wife of D and mother-in-

law of P. How 1s B related to D?
A) nephew B) cousin C) son-in-law D} son

Three persons A, B and C wore shirts of black, biue and orange colours ( not
necessarily in that order) and pants of green. yellow and orange colours ({ not
necessarily in that order) No parson wore pant and shirt of same colour. Further, A
did not wear black shirt, B did not wear blue shirt, C did not wear orange shurt, A did
not wear pant of green colour, B wore orangs pant.

What were the colours of pant and shirt worn by C, respectively?

A) vellow and black B) yellow and blue

() green and blue D) orange and black
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141, In the Olympic games, the flags of 6 nations were flown on the mast in the following
manner: The flag of US was 1o the loft of indian flag. and o the right of French flag.
The Australian flag was to right of Indian flag but was 1o the teft of the flag of Japan.
which was to the left of the flag of China. Find the two flags which are in the centre
A India and Australia By US and India

C) Japan and Australia Dy US and Austrabiz

Read the following information and answer the question

i) Gopal is shorter than Ashok but tailer than Kunal

i1} Navin is shorter than Kunal

iii) Jayesh 1s taller than Nav:n

iv) Ashok is taller than Jayesh

Who is taliest among them
A) Gopal B) Ashok ) Kunal D) Jayesh

b.ﬁ
[
R

143, A sales represeniative plans to visit cach of 6 compames M, N, P, Q. R and S exactly
once during the course of one day. She is setting up her schedule for the day
according 1o following conditions
i) She must visit M before N and R
ii} She must visit N before Q
iii) The 3™ company she visits must be P
Which of the following could be order in which she visils companies
AYM,S, PN, R Q BYQ, N.P,R.S. M
OYM, RN, Q.P.S DyP,S.MLUR.QUN

Read following information and answer (. Nos. 144, 145
On a playing ground, Dev, Kumar, Nilesh, Ankur and Pintu are standing facing North
i) Kumar 40m to right of Ankur i1} Dev is 60m to south of Kumar
i1} Nilesh is 25m to the west of Ankut iv} Pintu is 90m to North of Dev

j44.  Ifa bov walks from Nilesh, meets Ankur followed by Kumar, Dev and then Pintu.
How many metres has he walked, 1f he has travelled the straight distance ali through?
A)215m B) 135m () 245m D} 185m

145, Who is at the North-east of the person who 1s to left of Kumar?
A} Nilesh B) Ankur ) Pintu D) either Nilesh or Dev

146, Two buses start from the opposite points of 2 main road. 150 km apart. The first bus
cuns for 25 km and takes a right turm and then rons 15km. It then turns lett and runs
for another 25km and takes the direction back to reach the main road. In the
meantime, due to a breakdown, the other bus has run only 35km along the main road.
What would be the distance between two buses at this point?

A) 65kms B) 75kms ) 80kms D 85kms

{47. Find the number of triangles in the Fig.

A) 28 B) 32 Ch36 D) 40
148, Which one of the followiag combinations would have the identical water-image.
A)BCDFZK B)BCDEZK CyZKOEDB DIBCDEOK
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149, Complete the Fig. by replacing ques

tion mark {7} from given alternatives in Answer

kg,

X X
@ \|D |+
A | o] ?

— X PX|©O

A B C D

A)RB By C O D Dy A
Observe the dots on a dice (one 1o six dots) in the following Fig. How many dots are
contained on the face opposite to that containing four dots?

A)2 B)3 C)6 D) cannot be determined.
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grem I1 feR 3g7 TR 038 mwwwﬁwamﬂ%g
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Jot fo'g wigt & 9 few, fsT wiug F (e T 9 »ius © AF UH Wow
»Yd J<IIm

ZABCDEFGHIJKLMNOPQRSTUVWXY

{AYH (B)R (CYS T

FEE & wT G uBg-HEg AT T 31 RE ST

(A)2.3.4.1.5.6,7 (B)3.1,2,5.4.7.6 () 3,2,5,4.7,6.1 (D) 4,1.3.2.6.5.7
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14.

b
Lh

16.

v gy fe, T ot vy UtRE ' &

(A} S (B) 13 (C) 14 (D) 16
ﬁ?ﬁwn{éaﬁwém@#ar@*émmméﬁwrm,??ﬂwéﬁ
utRS & 3

(A) 6 (B) 10 (C) 11 Ny i3
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(A) FEd 7.40 TH (B)A2T 7.05 ¢
(C)AET 7.00 FH (D)A<Y 6.55 T
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(A) MALAYALAM B) WYY vN
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18.

19

20.

-~
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24,
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5% 56 4 I ©f faat fgresT )
Ay 4 ;B;;i (Y ; to)
mwfav%wuﬁwxs:ﬁawwamwfrww J! few Ag=aT &
HgH &9 fa fegt ufon few feg serm, fea saft miz feg mar

a) 2 om M (C) — = O)rea‘”"a‘ufarﬁe”raﬁq
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13 & T fag 25% I23T 995 578 fea femadt 600 gue &t ydle 3 10 fa@ary
FO B YYI I AT 1 43 Tt wd aI &t 4
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(A) a3 (B) AT (C) ferfve (D) ATTa&
87 ‘gEaudT et T

(A) FTHT (B) u-gHT (C) forags (D) fE
88 fr unsd 9 &ua »ug g9 Wy {8, § faar Afer 3

(A) BT (B) =T (C) AR (D) FoETsT

Directions (0.89-91):-  Choose the correct preposition to be filled in the gaps in the
following sentences out of the four given options:-

89. Seeta finally managed to break free ...... her attacker.

(A) from (B) with (C) by (12) through
90. I wish she knew what she was driving ...

(A) by (B) at {Cyon (D) off
91. Venkat was lucky to get ..... with a small fine.

(A)on (B) through (CYoff (D) by

Directions (0.92-95):- Choose the correct synonym of the following out of the four
given options:-
az. Adduce

(A) Cite {BY Reduce {C) Subtract (D) Addict
93. Debauched

{A) Cruel (B) Depraved (C) Dangerous (D) Bleached
94. Exasperate

{A) Entertain {B) Exhaust (C) Inturiate (D) Attract
95. Impolitic

{A) Apolitical (B) Impolite {C) Political (1)) Unwisc

Directions (O. 96-98):- Choose the correct meaning of the following idioms out of the
four given choices :-

96. To nail one’s colours to the mast
(A)to be a good sailor (B) 10 be accessible to all
(C) 10 be pessimustic {D) to refuse to surrender
97. To come 10 a head
(A) to reach a cnisis (B) to attain perfection
(C) to master something (D) to climb & mountain
98. To leave someone in the lurch

Alto aspire for his/er friend’s position  B)to desert someone in a helpless condition

() to piot a conspiracy D) to rob somebody in a journey.

Directions (Q.99 & 100):- Choose and mark the correct sentence out of the four given

gptions:-

99.  (A) The population of London 1s greater then Jarpur.
(B) The population of London 1s greater than Jaipur.
(C) The population of London is greater than that of Jaipur.
(D) The population of London is greater than the city of Jaipur.

100, (A) Sachin is the greatest of all other batsmen.
(B) Sachin is greater than all the batsmen.
(C) Sachin is greatest of all other b.itsmen.
(D) Sachin is the greatest of all batsmen.
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{I) ‘min fin bin gin’, € HIHBE & -trains are always late’
{11) "gindin cin hin'. €F H3&H g “drivers were always punished’
{1il) “bin cin vin rin’. € H3IBE T -drivers stopped all trains’
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37 fgd *hin min kin’ €7 HIHF I
(A) always late trains {13) passengers are punished
(C) all passengers late (D) passengers are late
T 98 HaE &8 WS § ‘swimmers’ AT HTET T, JIE =% YAt & flying
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2.3,9,27,112, 565, 3396
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(i) Lion__ roar (ii) Snake __ hiss (iii) Bees__hum

(iv) Frog_ bleat (v} Dog _ bark

(A) (1) (B} (i1) (C) (iii) (D) (iv)
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instructions :

[y
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10.

11.

[WEY
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13.

14,

Write your roll number on the Question Booklet and also on the OMR Answer Sheet only in

the space provided and nowhere glsg

Enter the Question Booklet Number and Series on the OMR Answer Sheet by darkening the
corresponding bubbies with Black/Blue Ball Point Pen oaiy.

To open the Question Booklet, remove the paper band gently.

Check that the Question Booklet contains 150 Objective Type guestions witn multiple choice
answers. In case of any discrepancy, inform the Invigilator within 10 minutes of the start of

test.

Each question has four alternative answers A, B, C & D, of which only one is correct. Darken
oniy one bubble A, B, C or D, whichever you think is the correct answer, on the OMR Answer

Sheet with BLACK/BLUE BALL POINT PEN only.

All questions are of 1 mark each. THERE 1S NEGATIVE MARKING. 1/4 marks will be

deducted for every wrong answer.
Rough work is to be dene on the question booklet only.
Do not make any identification mark orn the MR Answer Sheet or Question Booklet.

The Answer Sheet is designed for computer evaiuation. If the instructions are not followed
properly, the candidate alone shall be responsible for the resultant loss so caused.

After the test, hand over the Question Bookiet and OMR Answer Sheet to the invigilator on
duty.

Telecommunication equipments, such as calculators, pager, cetlular phone, wireless & biue
tooth devices etc. and weapons are not permitted inside the examination hail.

Nothing is tc be copied/noted from the given OMR Answer Sheet and Question Bookiet, and
be taken out of the Examination Hall. Any candidate found doing so would be expelled frem

the examination.

A candidate who creates disturbance of any kind or changes his/her seat, or is found in
possession of any paper possibly of any assistance, or found giving or receiving assistance, or
found using any other unfair means during the examination will be expelled frem the
examination. The decision of the Observer shail be final.

The candidates will not be allowed 1o ieave the Examination Hail before the expiry of time.
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